GRUPO ESTRUCTURA : MANUBRI O Y HORQUI LLA

MANUBRIO Y HORQUILLA

Rating: Not Rated Yet
Price:
Variant price modifier:

Base price with tax:

Price with discount:
Salesprice with discount:
Sales price: 1,00 $

Sales price without tax: 1,00 $
Discount:

Tax amount:

Ask a guestion about this product

Description
Ref. Titulo
1 C. BOMBA DE FRENO DELANTERO CON PALANCA
2 MANOPLA ACELERADOR
3 ENGRASE
4 ESPEJOR RETROVISOR DERECHO
5 ESPEJO RETROVISOR IZQUIERDO
6 MANOPLA IZQUIERDA
7 TORNILLO M10 X 1,25 X 45
8 PIERNA HORQUILLA DERECHA
9 C. ACCIONAMIENTO CEBADOR
10 CABLE CEBADOR
11 PIERNA HORQUILLA IZQUIERDA
12 TORNILLO M8 X 25
13 MANUBRIO

92-56000
92-47311
92-47212
92-57100
92-57200
92-47200
92-GB/T1-1
92-24800
92-46424
92-46400
92-52500
92-GB/T5
92-47100

Codigo

1/


https://www.cprrepuestos.com.ar/images/stories/virtuemart/product/cubs 125 manubrio y orquilla7.png

GRUPO ESTRUCTURA : MANUBRI O Y HORQUI LLA

Ref. Titulo Ccodigo

14 CABLE ACELERADOR 92-46300

15 C. CRUCETA CON CARNO VELA 92-51100

16 TUERCA M10 X 1,25 92-GB/T6

17 ANILLO SEGURIDAD 92-51145

18 TORNILLO M10 X 50 X 1,25 92-GB/T1-2

19 ARANDELA BLOQUEANTE 92-51127

20 CUBETA <a

href="http://zanella.ferengi.com.ar/unaparte.aspx?ld=2238&cla

2/ 2


http://www.tcpdf.org

